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Why semantics matter? ow t@ bUlId themr)

A What are semantianodels?

A A Example: model of an 1/0O moduigpe

A How to applythent?

'a OntoManager @ Merc x Y\ & Extensions x % %
A How to build them? €« C i [} localhost:8
OntoManager @ Mercator Telescope
A How to use them? ger @ P
(O] Ontologies Dataset Problems Browse Query Systems Mechanics Electronics Software
A Conclusions
y Models Model: http://mercator.iac.esfonto/models/external/beckhoff
. { 10del Sources: [coffee]
. 1ode 230~ beckhoff.ADD I0_MODULE TYPE(
. r0de, 231 id ¢ "EL10O88"
. rode 232 comment . "8-channel digital input terminal 24V DC, negative switching"
. P - adlels faytarnalbindar 233 manufacturer . beckhoff.company
- rodels/external/oinael 234 - terminals:
. o 1ode 235 1 -> symbol: "I1" , comment: "Input 1"
. tor.iac.es/onto/mode. 236 2 -= symbol: "I2" , comment: "Input 2"
. tor.iac.es/o hodel 237 3 -= symbol: "I3" , comment: "Input 3"
. ' - 238 4 -> symbol: "I4" , comment: "Input 4"
* o 1oasls/ 239 5 -= symbol: "IS" , comment: "Input 5"
- h tor. wodels/fexternal/phoenix 240 6 -= symbol: "I6" , comment: "Input 6"
« h to, r0del g 241 7 ¢ -=symbol: "I7" , comment: "Input 7"
.k P "ode tcs 242 8 . -= symbol: "I8" , comment: "Input 8"
- M:. o 243+ channels:
= h to, 10de, tes, 244 1 : -= terminals: [ $.terminals["1"] ]
e h to node tes, 245 2 -> terminals: [ $.terminals["2"] ]
.} to ©ode tcs 246 3 -> terminals: [ §.terminals["3"] |
. . L 247 4 -= terminals: [ $.terminals["4"] ]
. o 1oge Lcs; 248 5 -= terminals: [ §.terminals["5"] ]
. tor. rode, tes; 249 [ -> terminals: [ $.terminals["6"] ]
. to Tade, tcs 250 7 -= terminals: [ §.terminals["7"] ]
. . es/onto/mode ,.HS' 251 8 : -= terminals: [ $.terminals["s"] ]
e e M:. o 252~ soft_interface:
. to glelel] tcs, 253 inputl -> { type: t_bool , comment: 'Input 1' }
. to, r0de, tes, 254 input2 -={ type: t_bool ., comment: 'Input 2' }
. h tor ©odels/mics 255 input3 -= { type: t_bool , comment: 'Input 3' }
. N o L 256 inputd -> { type: t_bool , comment: 'Input 4' }
* o 10aels/mics, 257 inputs -= { type: t_bool ., comment: ‘'Input 5' }
e h tor. ode, tcs, 258 inputé -= { type: t_bool , comment: ‘Input &' }
. At to rode tes/softw 259 input7 -> { type: t_bool , comment: 'Input 7' }
.k . ©ode, ) 260 inputs -> { type: t_bool , comment: 'Input 8' }
- M:. 261 WcState . -={ type: t_bool ., comment: 'EtherCAT Working counter state' }
e n tor, 10ge! 262 InfoDataState : -= { type: t_uintl6, comment: 'EtherCAT state (INIT, PREOP, OP, ...)' }
. to r0de, 263 )| "ELlos8"
. tor 10de. )
. - 265 - beckhoff.ADD I0_MODULE TYPE(
* to roae 266 id : "EL2008"
. to .es/onto/mode 267
. to .es/onto/mo est/test
« b for.jac.es/onto/mo. {/test expression

it
m
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Why semantics matter? H@W t@ bUlId themr)

A What are semantianodels?

A A Example: model of an 1/0O moduigpe

A How to applythent?

&) OntoManager @ Me Extension
A How to build them? ’ SR
PR TP L A e OntoManager @ Mercator Telescope
Ontologies Dataset Problems Browse Query Systems Mechanics Electronics Software
A Conclusions
' Models Model: http://mercator.iac.esf/onto/models/externgl/beckhoff
: beckhoff.ADD I0_MODULE TYPE(
- id "EL1o88"
. comment "8-channel digital input terminal 24v DC, negative switching"
. manufacturer beckhoff.company
terminals
* 1 -= symb “IL" “Input 1"
. 2 Izt “"Input 2"
. 3 "3 “Input 3"
4 “I4" "Input 4"
: 5 “Is" “Input 5"
- “Ig" “Input &"
. 7 “I7" “Input 7
. 8 - “Ie" "Input 8"
channels
. 1 [ $.terminals["1"] ]
. 2 [ $.terminals["2"] ]
. 3 [ $.terminals["3"] ]
4 [ $.terminals["4"] ]
* 5 [ $.terminals["5"] ]
. [ $.terminals["6"] ]
. 7 [ . terminals["7"] |
. 2 - [ $.terminals["g8"] ]
soft_interface
. inputl = { t_bool comment: 'Input 1' }
. input2 > { t_bool comment: 'Input 2' }
. input3 = { t_bool mment: ‘Input 3' }
inputd = { t_bool mment: ‘Input 4' }
: inputs = { t_bool mment: ‘Input 5' }
. inp = { t_bool mment: ‘Input &' }
. = { t_boo mment: ‘Input 7' 3}
. = { t_t mment: ‘Input 8' }
= { t_bool mment: ‘EtherCAT Working counter state' }
* > { t_uintls, comment: 'EtherCAT state (INIT, PREOP, OP, ...)'
beckhoff.ADD I0_MODULE_TYPE(
: id "El




